PREP-E-BOOKS

(BIOLOGICAL EVOLUTION AND GENETICS)

1. el &) 9 & v # Fufafee & @ o9
Awgfede 32

Which of the following is macronutrient in relation to
growth of plants?

() TREH (b) Fiw
Potassium Zinc

) dRH d) ARA
Boron Chlorine

2. frafafea & A S-a1 TRIbd #19cd T8 82

Which of the following is not component of chlorophyll?

(a) chlcym (b) BT
calcium corbon
c) Ay (d) BESIoH
Magnesium Hydrogen

3. Oeii & orit ugemar S 8-

Water in plants is transported by-

(a) SIECHER ORRUESERE-
Xylem Epidermis
(©) TEITHERI d) FREEERT
phloem cambium

4. g geTel R AR Fifoe-

1) UgST AU
2) BT BT
3) ®ad qTdl oitq
4) Ug T FAYUTY
IWIa gl & gl W 9P IAT g1 P
PIAHATIR ARG DT 9T 9 Ru pei 4 d
TG IR BT I DT Fe-
Consider the following events:
1) First reptiles
2) First insects
3) Shelled animals
4) First mammals
Arrange the above events in Chronological order of their
origin on the Earth and select the correct answer from the
codes given below:

(@ 2134 (b) 2314

(c) 3214 d) 2413

5. fFufafEa & & $9-ar awe e & e &
R U fae Ta & Rigia 9 JeT1 82
Which of the following scientists is associated with the
theory of natural selection during evolution of life?

(@) Hed (b) eI

Mendel Darwin

(€ BwH @) freR

Haldane Miller

6. 94 faepra & Iy & Il & 3T &1 &y g1 B Wy
frarSraT 8-

In the context of organic evolution, the loss of limbs in
snakes is explained by the phenomenon of:

(a) 3 BT IUGNT aul (b) foAid@AS U
SUANT fbT o & gAY

Use and disuse of organs Adaptation to living in burrows

() Wiplad ag9d (d) TSI A& B

Natural selection Wﬂﬂ'ﬂﬁﬁ

Inheritance of acquired
characters

7. A B G0 & Ty gRfea Hi o gl & R
&3 T T BT U R AE I DI G-
Tt -
A. S &1 Rigra 1. dted sk eew
B. fomiaiRiga 2. Swle iR A
C. TP o9 U T-aTed &Y uR@weqeT 3. S1fdA
D. 3TURTT AYRUT 4. T ST AT
Match List-1 with List-1l and select the correct answer using
the codes given below the lists- Match List-1 with List-1l and
select the correct answer using the codes given below the
lists-
List-1/&A-1 List-11/GA-11

A. Theory of mutation 1. Beadle and Tatum
B.Theory of evolution 2. Jacob and Monod
C. One gene one enzyme hypothesis 3. Darwin
D. Operon concept 4. Hugo De Vries

(@) ABCD3412 (b) ABCD4312

(c) ABCD4321 (d) ABCD4231

8. faora & Iafad= Rigr< o1 ufaure faar -

The mutation theory of evolution was enunciated by

(@) TRAA (b) SEA
Huxley Darwin

() THHA d) TgmIIgeA
Lamarck Hugo de Vries

9. Y UR HEH QRITSig B A1 8?2

Which is the oldest organism on earth?

(@) g ara (b) HID
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Blue-green algae Fungi
(c) SfHiaT (d) g
Amoeba Euglena

10. E'I'E'ﬁ'\‘ﬁ? (Dinosaurs) Ig-

Dinosaurs were in—

(@) URmSES g (b) S gUH

Paleozoic era Cenozoic era

(c) WIsS guH (d) wEEEHgTH

Mesozoic era Pleistocene era

11. SRR &1 ST 3Te A fha af uga ur?

How many years ago was the age of dinosaur?
(2) TSI Yd (b) 3MORE BIIS as gd
Five crore years ago Eighteen crore years ago
€ T RIS a9 gd d) SRR IVYL

Forty crore years ago Eighty crore years ago

12. gﬁmﬁmﬁﬁ%mﬁwmﬁwﬁuﬁnﬁ

The petrified eggs of Dinosaurs was recently found in India-

€) Wﬁl@f%ﬂ*{ﬁﬂ (b)  Meerakhedi Village of

iCE:] West Gujarat/ qf%\l"-:ﬁ
Peshunera Village of Ludhiana RENE $m€”ﬁaﬁ
district
(c) In Nilgiri region of Odisha/ (d) In Desalwad region in
B@ﬁm%:ﬂﬂﬁﬁ’ RER:| Rajasthan/ NERIEEY
s &7 7

13. fawrare o1 Rigia feaa wfaurfea fear

Who propounded the theory of evolution?

(a) @R‘W%{Spencer (b) ST 7 Darwin
(c) T 3 Wallace (d) WefHuxley

14. “SIET GRT WRga Wrpfad wRuEe FF & I fra w
3ruta 82
Darwin's theory of natural selection is based on—
(@) SfiaR-TMeRAE (b) TIAHR TRRe~ TS
Overproduction aﬁ'Q'E{F\E[
Struggle for existence and

variation
(c) WRARIAABEhexe (d) IWRiad it
Survival of the fittest All the above

15. oial# ercafye fafdudr s1eRUTR-

The reason of large-scale diversity among the organisms is-
(a) 3{JHd Adaptation (b) HgH Tl Cooperation
() SARTIT Mutation (d) IgIUIYAI Polyploidy

16. PP FRUE-

The cause of evolution is-
(2) IR garf (b) oA % forg et
Fossils Struggle for existence

() UIE-9-UEt erga d) dmfd

Adaptation Inheritance

17. 99 3P (Evolution) P TAUYH fHT THZTAT?

Who explained the evolution of life firstly?

(@ =i (b) S3MECTA
Newton Einstein
CEEISISIEE! d) TS
Charles Darwin Lamarck

18. APRIFT TR IR & -

The main factor of evolution is—

(a) SARTdA (b) BRI BT gL
Mutation Achieved quality

© ofte S (d) UThide aror
Vaginal birth Natural selection

19. w ®q P Rk L) # qA (vestigial) T

Which of the following in human is not a Vestigial Organ?

(@ M ma (b) PO DI HUTH
Nictitating Membrane Higufemt
Ear lobes
(c) WA ad Iue aid ) aHfmr sy
(P=dh) Vermiform appendix
Incisors
20. 3nfhapfiay -

Archaeopteryx is—
(@) RRGFTHIHIRIAT (b)) G DI BTG
gait Reptile of Jurassic period
Most ancient bird of Jurassic age
(©) CRURGHARTEIGT (d) SRS qUTRR¥D T
Reptile of Triassic period ma’—fw
Reptile of both Triassic and
Jurassic period

21. TAUH YHTU & SR A1 UR 9 371 30 2 ar@ 9¥
Td g3ITI 39 T | Wietsila, Rare Td Sitary) 3-
According to recent evidence, the life on earth emerged
approximately—

(@ 20,000 T gd (b)  2,00,000 T g
Before 20,000 years Before 2,00,000 years
(c) 20,00,000TY gq (d)  2,000,000,000 T gd

Before 20,00000 years

22, BAUYYdTIE-

Mammoth is the ancestor of—
@) ﬁﬁ Dog (b) 'Eh%a’)—[ Horse
(c) &< I Camel (d) 1A BT Elephant

Before 2,000,000,000 years

23. AMYFIP UTST FT A BT YA & -
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Latest ancestor of modern human is

() SaTHI™ (b) A AT
Java man Cro-Magnon man
(¢) fuvswydage (d) TR et

Neanderthal man Peking man

24. U # A HH-91 THTTH THT AT 82

Which of the following is considered the latest?
() Rsawiara (b) HHAFHAT
Heidelberg human Cro-Magnon human
(c) fiesHAMa (d) TuTsyaHra

Piltdown human

25. A9 YRR A HIAEH &1 B fPat gl g-

The number of chromosomes in human body is-
@ 23 (b) 46
(c) 44 (d 42

26. 9. &) HUN, oY & v 9 Iafkad! vaa g, sud

.. o1 G{‘lf% - In Bt. Cotton, which is a transgenic crop,
Bt stands for -

(@) Sa-aHNP IAG (b) SEIREIHIAH
Biotechnology Product Name of Bacterium
() SMYR Sfia Iafadf d) SlearRiwdT

Basic Transgenic

27. DNA @ EER-UTeR WRaT frad gr1d s ot
Double-helical structure of DNA was given by whom?

(a) Sibd qUTHAAIS (b) dTCHA auT e

Jacob and Monod Watson and Crick

(€) TS GRA d) SRIFdHYBIS T

H.G. Khorana None of the above

28. DNA &I @Il fha 312
Who discovered DNA?
(@) VWAl TWHRE (b)) FRTSA
fobep Gregor Mendel
James Watson and Francis Crick

€ e d) STFEIADS
Johannsen :{Wﬁ@@ﬁ

None of the above/More than
one of the above.

29. Al PRl & wed # fufafed w AR

aﬂﬁmz:

TP HiZdT qui g U I9PT Ufa quiiy gl 1 39%
TP 07 3R ' Tt 31 39 e # fFafafea o @
P TP HYT P 61 g1 &1 Haifere THEAT 82

In the context of genetic disorders, consider the
following:

A woman suffers from colour blindness while her husband
does not suffer from it. They have a son and a daughter. In

Nianderthal Human

Insecticidal Protein

this context, which one of the following statements is most
probably correct?

(@) THIYAAaUiRAIAITRG (b) T quiw g g O
g Ui I g

Both children suffer from colour Daughter suffers from colour
blindness. blindness while son does not
suffer from it.

(c) EEIHIUHTRT  (d) GAIuiHE e
Both children do not suffer from CRIBERHES
colour blindness. Son suffers from colour

blindness while daughter does
not suffer from it.

30. 9 TP S gt a1 g ¥ 3if¥w fua-fira dgon &) e
a1y faf~ra $va1 8, a8 9 s e
When a gene controls two or more different traits
simultaneously, this phenomenon is called—

(@)  SrHITSA (b)  SgHHITAT
Apomixis Pleiotropy
(c) g (d) SgUcd
Polyploidy Polyteny

31. o9 & far g H-3nuR yRad= sgamEar s :

Change in the base sequence within the gene is called
(@) USIH Breeding (b) TR Cloning
(c) IAREdT Mutation (d) TS Fusion

32. fgfafEa d @ $9-91 ver ol sfial # T =78 wifa
Y Il & e waffire wewaygof ves &2
Among living organisms, which one of the following is the
most responsible factor for bringing about the origin of a
new species?

(a) Ui (b) SARGdA
Isolation Mutation
(c) Wbl arum d) e o

Natural Selection

33. TP qUI 39 UH AT Afgar @ faare swar 21
m%a&wmﬁ,m-Amanwho is

suffering from colour blindness marries with a normal
woman. The symptoms of colour blindness will be seen in-

(@ g™ (b) g H

Sons Daughters

¢ GWorEd d) gRiEEH

Step- sons Sons of daughters

34. A=d A A Rrufaf¥a <dzmfa fFraay & wfourfea
P ¥ Fore iUt &1 Iuai faran, ag o1-

The organism used by Mendel in his famous propounded
'Theory of Inheritance' was—

(@) grEfthar (b) WIS

Drosophila Snapdragon

() AT @HR) @) e bt (Gifdd qex)

Sexual Reproduction
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Garden Pea Sweet Pea

35. AU ATIARIS fIT &1 5 B 82

Who is the father of modern genetics?
(@) WRS-HUSA (b) TEMSA
Gregor Johann Mendel Hugo De Vries
) T sifda (d) YHY g AN

Charles Darwin Thomas Hunt Morgan

36. fafafaa o A o1 a1 srgalRie T N9 waeh 82

Which of the following genetic diseases is sexual related ?

(@) BB () & -JAT
Haemophilia T- Sex disease
() YIdgRNY (d) SEIFEM

Cystic fibrosis Hypertension

37. STafRre) & A & A B9 gurdt 82

Which of the following is effective in genetics?

(@) B (b) SMRTAHIFR
Albunism Rh factor
(c) =it d) SifiReEE

Colour-blindness Excess bleeding(Haemophilia)

38. Fafaf@a & @ o9 MgdflRre aa®T (Genetic

Disorder) qﬁ%’-"

Which of the following is not a genetic disorder?
(@) S RigH (b) BB
Down syndrome Haemophilia

¢ 3Negaasa-RugH (d) CH-DIRADT SR

Irritable Bowel Syndrome Sickle Cell Anaemia

39. forfesw fFufafaa # A fFaer s 82

Genetics deals with—
(@) Tsadfay (b) Safae™
Mendel's laws Organic evolution
) LA TR (d) SMIafRemdr 3R fa=Ror

DNA structure

40. U39 & I RIFar BT R fra w smenfiia g2

Mendel's principle of inheritance is based on—
(a) IR S (b) 3 5=
Vegetative reproduction Asexual reproduction
) < S d) SofE T

All of the above

41. AP o9 A SRS faeRur A giar s?

Sexual reproduction causes genetic variation because of
(@) SiF & QYo Y (b) PEEHHIEAd Y
blending of genes chromosomal changes
) S Hyury ) Sudad ot

All of the above

Heredity and variations

Sexual reproduction

Shuffling of genes
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42, A A TIARIF AT I AATA TS -
Hereditary symptoms are moved in the descendant of
creatures by—

(@) IIERH R (b) SHIHRIH GRI
Ribosome Chromosome

(c) TATSHIGRI (d) TSHNHEgRI
Plasma Lysosome

43. fafafaa & @ e vgar awa Fa- o 412

Which of the following was the first successfully cloned

animal?
(@ ¥ b) SIP
Sheep owl
€ TR d) IFHAIPIS T
Rabbit None of these

44. WG ST P ATHUU GG AATIED (a1 T T4

Sequencing of ‘human genome’ was successfully done in

the year
(@ W1955%. % (b) T2001%.H
1995 AD 2001 AD
() V20108 d) T2015%.H
2010 AD 2015 AD

45. 3T § TEY yrar S -

D.N.Ais not found in -

@) a1 Guanine (b) TSHH Adenine
(c) WUracil (d) 79 9 P T8I None of
these

46. & A fPad i R 8 FQ &2 which of the

following does not contain sex chromosomes?

(&) daX Monkey (b) Il Cheetah
(c) fadel Butterfly (d) fSu®md! Lizard
47. S
Gene is
(@) SI.TA.T HITSH UM (b) TLT.TRRE S
A segment of DNA T HIT

A segment of DNA and histone
() SLTITIARTAT SR (d) SWRigd I
B 1 Ueb HIT All of the above

A segment of DNA, RNA and
histone

48. faHRERi d ngalRie @eml & fAuFer o
fafafea & @ @991 SRS 82 Which of the

following is responsible for controlling hereditary
characters of the living cells?

(@) TUWIISH Enzyne (b) B'\IﬁqT:fHormone
(c) SMRTEAT RNA (d) SlTITDNA
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ANSWER KEY
Ques Ans Key | Ques Ans Key | Ques Ans Key | Ques Ans Key
Type Type Type Type
1 A 16 C 31 C 46
2 A 17 D 32 B 47 A
3 A 18 D 33 D 48 D
4 C 19 C 34 C
5 B 20 A 35 A
6 A 21 B 36 A
7 B 22 D 37 D
8 D 23 B 38 C
9 A 24 B 39 D
10 C 25 B 40 C
11 B 26 B 41 D
12 B 27 B 42 B
13 B 28 C 43 A
14 D 29 D 44 B
15 C 30 B 45 C
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